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,ilntspfis epug;gpj; jPu;f;f. 

(1)         (2) 

 

 

 

 

 

 

            

                    

        

         

         

Njw;wk; - xU tl;lj;Jf;F tiue;j njhlypf;Fk; njhLGs;spapy; tiue;j 
ehZf;Fk; ,ilapYs;s Nfhzk; xd;Wtpl;l tl;lj; Jz;lj;jpy; 

me;ehzpdhy; vjpuikf;fg;gLk; Nfhzj;jpw;F rkdhFk;. 
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ABC tl;lj;jpd; njhlypahFk;. 

Njw;wj;jpw;fika  𝐶𝐵̂𝐷 = 𝐵𝐸̂𝐷 

 

ABC tl;lj;jpd; njhlypahFk;. 

Njw;wj;jpw;fika 𝐴𝐵̂𝐷 = 𝐵𝐹̂𝐷 
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ABC tl;lj;jpd; njhlypahFk;.    

 𝑎 =  … … … … …. 
(njhlypf;Fk; 
ehZf;Fk; ,ilg;gl;l Nfhzk;) 

 

ABC tl;lj;jpd; njhlypahFk; 

𝑎 =  … … … … …. (njhlypf;Fk; 
ehZf;Fk; ,ilg;gl;l Nfhzk;) 

ikaj;jpy; vjpuikf;Fk; ∡ gupjpapy; vjpuikf;Fk; 

∡,d; ,U klq;fhFk;. 

  𝑏 = 2𝑎  

∴ 𝑏 = 700  
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      ABC tl;lj;jpd; njhlypahFk;.    

(i) 𝐷𝐸̂𝐵If; fhz;f. 

        𝐷𝐸̂𝐵 =. … … … … …. MFk;. (njhlypf;Fk; ehZf;Fk; 
,ilg;gl;l Nfhzk;) 

𝐸𝐵̂𝐷 If; fhz;f. 
tl;l ehw;gf;fnyhd;wpd; vjpu; Nfhzq;fs; kpifepug;gp  

Mifahy;, 

𝐸𝐵̂𝐷 = 1800−. … … … …  

         = ................. 

(ii) 𝐸𝐴̂𝐵 If; fhz;f. 

𝐴𝐵̂𝐸 = 1800 − (700 + 800)  

          = …………….. 

    𝐴𝐵̂𝐸 = 𝐵𝐷̂𝐸 ((njhlypf;Fk; ehZf;Fk; 
,ilg;gl;l Nfhzk;) 

  Kf;Nfhzp 𝐴𝐵𝐷,d; mff; Nfhzq;fis fUJk; NghJ 

 𝐸𝐴̂𝐵 = 1800 − (𝐴𝐵̂𝐷 + 𝐵𝐷̂𝐸) 

           =  1800 − 1300 

           =  … … … ….  

 

 

 

gapw;rp 22.3 ,d; tpdhf;fSf;F tpilaspf;f. 
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𝐷𝐹 tpl;lkhFk;. 

𝐴𝐶, B ,y; tl;lj;ijj; njhLfpwJ. 

𝐴𝐵̂𝐹 If; fhz;f. 

𝐹𝐸̂𝐷 =  … … … … (𝐴𝐵 tpl;lkhifahy;)  

𝐹𝐸̂𝐵 =. … … … − 500  

𝐹𝐸̂𝐵 =. … … ….  

𝐹𝐸̂𝐵 = 𝐴𝐵̂𝐹  

∴ 𝐴𝐵̂𝐹 =  … … …  

 


